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1,998,360&

s X X} ETAL it | =¥ =Y 2E7L

Otot =2 X|, ZoHX|(ZH 108 M E) olzg H| A 251,000 | 1 251,000 | 225,900
HRMO| St=Al 2R (21~30WH, ME) (Aol cH2olo| 130,000 1 130,000 117,000
AoMol d2|A 20 Mot 2 H(1~83, |2 B4 CHE0}O| 104,000 | 1 104,000 93,600
HLt2t Of 2 LtEH(1~24) Ol &5 d AL 336,000 | 1 336,000 | 302,400
AYLA M7[5ID 25 HHE= Al2[0 22 & (0222 2[0 67,000 1 67,000 60,300
SE|EAL A 29| 4ot AFH(1~5) | HES OfZ2S 84,000 1 84,000 75,600
2RO MAAF CHE R (1~10) A0lA CHE0}0| 99,000 1 99,000 89,100
2ROl MAA CHE R (11~20) A0lA CHE0}0| 110,000 | 1 110,000 99,000
HUIAMO| MAHAL CHE 22 AN CHEOfO| 14,000 | 1 14,000 12,600
10 [&YWAEO QM TRS(1~23, TME) |AWAHE |I=EHSHRH 29,600 | 1 29,600 26,640
HHHE M A A1 ~5) & SXFL0f | 70,000 | 1 70,000 63,000
EIHel = WEE(1~7) =1 CtAtof2lo] | 15,000 | 7 105,000 94,500
HH| B A E(1~4) o|LtH 220224 54,000 | 1 54,000 48,600
Or=7t2|Efol 2FH(1~3) TE w23 | Mot | 36,000 [ 1 36,000 32,400
22 2 1|(1~2) FAR:ES CHAFOJ2I0] | 28,000 | 1 28,000 25,200
o2 Hu &&0|(1~2) dgF CHAHOJ2I0] | 28,000 | 1 28,000 25,200
=SE AR 2nE(1-3) Cr | 39,000 1 39,000 35,100
KHAFE S X|CH & F(1~11) AL =HS 163,000 | 1 163,000 | 146,700
ofglol & O3 StRtARM 1EHA| SHA AR 70 Y = S0l 10,000 5 50,000 45,000
o{2lo] & a7 SHAALY 2&HA| SHA AR 70 Y = S0l 10,000 5 50,000 45,000
LEE0| ZSFOAN Mz SEEAPM I 53,000 | 5 265,000 [ 238,500
H}E =(DLS11E M 0F3%H21)660*147 97020 1 97,020 97,020
A 40 | 2,209,620 | 1,998,360
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